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Section : English Language (Basic Knowledge)

Q.1 Select the word which means the same as the group of words given.

Come in the way of
Ans x 1. Indulge
J 2. Hamper
X 3. Deprive
x 4. Facilitate

Question ID
Status

Chosen Option :

: 424429628
: Not Answered

Q.2 Select the correct indirect form of the given sentence.
Neeta said, "Let me see how Pragya performs in her preboard examinations."

Ans J 1. Neeta said that she wanted to see how Pragya performed in her preboard examinations.
X 2. Neeta said | would see how Pragya performed in her preboard examinations.
X 3. Neeta wants to see Pragya's performance in her preboard examinations.

4. Neeta wanted to see how Pragya would perform in her preboard examinations.

Question ID : 424429608
Status : Answered
Chosen Option : 4
Q.3 Select the most appropriate option to substitute the underlined segment in the given sentence. If there
is no need to substitute it, select No improvement.
She was looking troubled when the teacher asked her to submit the homework.
Ans
X 1. had been trouble
X 2. was troubling
J 3. No improvement
x 4. is look trouble
Question ID : 424429620
Status : Answered
Chosen Option : 3




Q.4

Ans

Select the word which means the same as the group of words given.

An unforseen happening which creates some damage

o 1. Mishap
X 2. Magical
X 3. Mystery
X 4. Menace

Question ID : 424429627
Status : Answered
Chosen Option : 1
Comprehension:
In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.
A recent census of waterbirds conducted as a part of Asian Waterbird Census (1) an
increase in their population in Najafgarh Jheel this year. The census also showed a (2)
in the number of threatened species. Last year, the number of waterbird species were thirty-
one which climbed to fifty- four this year, while the threatened variety (3) from four to
six in the same duration. The region also saw a healthy monsoon in 2019, which would have
(4) impacted the quality of habitat, making it (5) to more birds.
SubQuestion No : 5
Q.5 Select the most appropriate option for blank number 1.
Ans J 1. recorded
x 2. played
x 3. responded
x 4. reaped
Question ID : 424429612
Status : Answered
Chosen Option : 1
Comprehension:
In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.
A recent census of waterbirds conducted as a part of Asian Waterbird Census (1) an
increase in their population in Najafgarh Jheel this year. The census also showed a (2)
in the number of threatened species. Last year, the number of waterbird species were thirty-
one which climbed to fifty- four this year, while the threatened variety (3) from four to
six in the same duration. The region also saw a healthy monsoon in 2019, which would have
(4) impacted the quality of habitat, making it (5) to more birds.
SubQuestion No : 6
Q.6 Select the most appropriate option for blank number 2.
Ans X 1. wealth
x 2. slowdown
J 3. growth
X 4. health
Question ID : 424429613
Status : Answered
Chosen Option : 3




Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

A recent census of waterbirds conducted as a part of Asian Waterbird Census (1) an
increase in their population in Najafgarh Jheel this year. The census also showed a (2)
in the number of threatened species. Last year, the number of waterbird species were thirty-

one which climbed to fifty- four this year, while the threatened variety (3) from four to
six in the same duration. The region also saw a healthy monsoon in 2019, which would have
(4) impacted the quality of habitat, making it (5) to more birds.

SubQuestion No : 7

Q.7 Select the most appropriate option for blank number 3.
Ans J 1. rose
x 2. rises
x 3. had risen
x 4. is risen
Question ID : 424429614
Status : Answered
Chosen Option : 3
Comprehension:
In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.
A recent census of waterbirds conducted as a part of Asian Waterbird Census (1) an
increase in their population in Najafgarh Jheel this year. The census also showed a (2)
in the number of threatened species. Last year, the number of waterbird species were thirty-
one which climbed to fifty- four this year, while the threatened variety (3) from four to
six in the same duration. The region also saw a healthy monsoon in 2019, which would have
(4) impacted the quality of habitat, making it (5) to more birds.
SubQuestion No : 8
Q.8 Select the most appropriate option for blank number 4.
Ans 3 1. deftly
x 2. decently
x 3. dutily
J 4. directly
Question ID : 424429615
Status : Answered
Chosen Option : 4




Q.9

Ans

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the alternatives given.
Select the most appropriate option for each blank.

A recent census of waterbirds conducted as a part of Asian Waterbird Census (1) an increase in
their population in Najafgarh Jheel this year. The census also showed a (2) in the number of
threatened species. Last year, the number of waterbird species were thirtyone which climbed to fifty-
four this year, while the threatened variety (3) from four to six in the same duration. The region
also saw a healthy monsoon in 2019, which would have (4) impacted the quality of habitat,
making it (5) to more birds.

SubQuestion No : 9

Select the most appropriate option for blank number 5.
x 1. unattractive
2. attractive

3. possible

X X <«

4. impossible

Question ID : 424429616
Status : Answered
Chosen Option : 2

Q.10 In the given sentence identify the segment which contains the grammatical error.

Ans

The neighbourhood were getting disturbed with the loud music that was playing at the
wedding party in the big bungalow.

x 1. at the wedding party
J 2. The neighbourhood were getting disturbed
x 3. in the big bungalow

x 4. that was playing

Question ID : 424429610

Not Attempted and

Status : Marked For Review

Chosen Option : --

Q.11 Select the most appropriate ANTONYM of the given word

Ans

FRAGILE

x 1. Slow

2. Strong

3. Fancy

X X <«

4. Fast

Question ID : 424429621
Status : Answered
Chosen Option : 2




Q.12 Select the most appropriate ANTONYM of the given word

IMPROMPTU
Ans 1. Fast

2. Appropriate

X € X X

3. Planned
4. Unplanned
Question ID : 424429622
Status : Answered
Chosen Option : 3
Q.13 Select the correct passive form of given sentence.
We can buy diamonds, but we cannot buy sympathy.
Ans x 1. Diamonds can be bought but sympathy can be brought.
x 2. Diamonds cannot be bought but sympathy cannot be brought.
x 3. Diamonds can be bought and sympathy cannot be brought.
J4. Diamonds can be bought but sympathy cannot be brought.
Question ID : 424429607
Status : Answered
Chosen Option : 4
Q.14 Select the most appropriate word to fill in the blank in the given sentence.
Today's are only interested in watching movies with the stories they can relate to the
cinema.
x 1. personalities
J 2. audiences
x 3. accountants
x 4. politics
Question ID : 424429632
Status : Answered
Chosen Option : 2
Ans
Q.15 In the given sentence identify the segment which contains the grammatical error.
The park was well lighted at night but it was deserted, so it was a bit scared.
Ans x 1. The park was well lighted
x 2. but it was deserted
x 3. at night
J4. so it was a bit scared
Question ID : 424429609
Status : Not Answered

Chosen Option :




Q.16 Select the INCORRECTLY spelt word.

Ans X 1. Appreciation

X 2. Escalation
J 3. Irational
x 4. Irritable
Question ID : 424429625
Status : Answered
Chosen Option : 3
Q.17 Select the most appropriate synonym of the given word.
MASQUERADED Ans
J 1. Acted
x 2. Managed
X 3. Disappeared
X 4. Dropped
Question ID : 424429629
Status : Answered
Chosen Option : 3
Q.18 Select the most appropriate word to fill in the blank in the given sentence.
The flyover was closed in October last year for repairs but its reopening has been as
it will be ready only in March this year.
x 1. broken
X 2. built
J 3. delayed
X 4. repaired
Question ID : 424429631
Status : Answered
Chosen Option : 3
Ans
Q.19 Select the INCORRECTLY spelt word.
Ans x 1. Suppression
x 2. Coercion
x 3. Pressurised
J 4. Implicatted
Question ID : 424429626
Status : Not Answered

Chosen Option :




Q.20 Select the most appropriate meaning of the given idiom.

Eat humble pie
Ans x 1. Make noise while eating
2. Eat something which is not tasty

3. Eat less food

L X X

4. Admit that you are wrong

Question ID : 424429623
Status : Answered
Chosen Option : 4

Q.21 Select the most appropriate synonym of the given word.

INTERSPERSED
Ans 1. Wore

2. Collected

3. Met

X X X

4. Scattered

Question ID : 424429630
Status : Not Answered

Chosen Option : --

asked me.

x 1. this that you was going
J 2. that you are going
x 3. when you will going

X 4. then you were being gone

Ans

Q.22 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select No improvement.

"Did you tell your parentsthat you would going for a movie with me this evening?" My friend

Question ID : 424429619
Status : Not Answered
Chosen Option : --

To fall on deaf ears
Ans x 1. To be aware of what is going on
2. To be ignored

3. To be listened carefully

X X &

4. To be paid attention

Q.23 Select the most appropriate meaning of the given idiom.

Question ID : 424429624
Status : Answered
Chosen Option : 2







Q.24 Four jumbled sentences are given. Select the option that gives their correct order.

A. The minimum temperature in the national capital dropped yesterday as cold north
westerly winds continued to blow in from the hills.

B. North India has been witnessing a harsh winter this year.

C. However, experts said the minimum temperatures would increase over the next few days
due to a cloud cover.

D. A favourable outcome of the wind factor was that there was a slight decrease in air
pollution levels due to the wind speeds.

Ans X" 1.CDAB

., 2. BADC
X 3.ABDC
< 4.BCDA

Question ID : 424429617
Status : Not Answered
Chosen Option : --

Q.25 Four jumbled sentences are given. Select the option that gives their correct order.

A. Saranda forests, in Singhbum, are a huge catchment for rivers and streams in this state.
B. If these forests are opened up for mining purposes the remaining rivers and streams will
dry up.

C. The state of Jharkand faces water scarcity every summer.

D. These forests are India's largest contiguous Sal forests and the current plan says mining
should not be allowed in the dense forest as rivers are drying up.

Ans 3 1.BADC

X 2.cBAD
X 3.AcDB
., 4. CADB

Question ID : 424429618
Status : Not Answered
Chosen Option : --

Section : General Intelligence




Al =3 Reeramgla 7 T Ft wE & 7 gy X sRe 31 (g & sl a8 )

R

Figure X

)
I

[

Ans

Question ID : 424429654
Status : Answered
Chosen Option : 2

Q2 =3 fameT & T FT S AW -G T 36 THR TS ¥ oG THR GET HER-TAE e HER-
g § e g

TZS : WCV :: KQP : ?

ans o L NTS
X 2 NSP
X 3 MTS
X & NTP

Question ID : 424429643
Status : Answered
Chosen Option : 1




Q3 37 fywed F TOF FY S AWY TEA ¥ 3 THR WO § T TR g@dr wEwr qgeh wEw ¥
wEfeT
1121435 23 =2
Ans X 1. 470
X 2 529
X 3 572

v * 667

Question ID : 424429635

Not Attempted and

Status : Marked For Review

Chosen Option : --

Q.4 %cmmmﬁwﬁa#mﬁmqﬁuugmgvﬁ:mﬁfmémmtm
& 77 3\ at W A T @ e vl e @ae o o fF et 7 @ sl ey
T *T ¥ AT F AHFEOT FAVT
FUT:
1. @l srer =T £
2. FT T T §
=y
. & s At §
Il. F& 718 ST &
111, el Fomg s §

X 1 e s | SEEROT T B
X 2 aer faswy || 3TEoT HXaT g
XK Fae faswd 11 3 I segeor F3a B
v o e fased | 3T 11 seEor aa g

Question ID : 424429650
Status : Answered
Chosen Option : 4

QS5 Rt F 37 TS F TS B G T srm-ymer F Rea e F &¢ F @) @ ) 4@er ot @
ST
L_UK_A_KLA_KL_UK

Ans - X1 AUUAL
X 2 KLAUL
X 3 LUUAL
v+ ALUUA

Question ID : 424429645
Status : Answered
Chosen Option : 4




QA6 zg dEEr 1 A w S AR e # veA-REa (?) F T W A FHr B
114, 121, 138, 175, 242, ?
Ans of 1349
X 2 356
X 3 345
X 4 347

Question ID : 424429638
Status : Answered
Chosen Option : 1

Q7 37 T &1 T F S TEmdt & #ew 9 FEw § o R e e f dwmdt & me
(16, 88, 296)

A of 1 (12, 66, 222)
X 2. (20, 110, 250)
X 3 (14, 77, 385)
X 4+ (28, 140, 518)

Question ID : 424429636

Not Attempted and

Status : Marked For Review

Chosen Option : --

Q8 R v FHAET # T W & T e @ FEamst B RER seen S aee?
7+24x3-72+18 =58

v K13k 7
X2 72 3T 24
X373k 18
v 18 3k 24

Question ID : 424429634
Status : Answered
Chosen Option : 4




Q9 37 gy #1 T FY S AT & T HPA-HT F geA-fEa (?) F T W H T B

(W TTI T
CLLIH|ITHITHTI

2

Ans

‘_/1.

e
g
s
e

Question ID : 424429652

Status : Answered

Chosen Option : 1

mmﬁmﬁmmmgmam ‘57 frar 1 A gelar A Tl A agT H
'mﬁé‘wgfrﬁarmm#mm%?

Q

Ans K mm 1.
v T H,
X A,
X 4 ;ﬁ-’

Question ID : 424429646

Status : Not Answered

Chosen Option : --




& a5 gl & g foraw g 87

Q.11

Ans

X X X &
= B B

s

Question ID : 424429653
Status : Answered

Chosen Option : 1

Q12 x v &5 a%as 1 X Y F aIA 3y F AT 33 A | 7 ast & A Y H g feeeh g
X120 T

X222 3

X314 a9

V21 a9

Question ID : 424429633
Status : Answered
Chosen Option : 4

&t fafRea e s A, 'PROCTOR' & 'RUSBURW' & &9 # o <iar &1 8 %e smwr
q.13 & HOSTING' #t &% forgr sreem?

v ¥ VRKSJOL

X VRKTJRL,
X  VQKSLSL,
X WXKSJON,

Question ID : 424429641
Status : Not Answered
Chosen Option : --




Q14 dry & 8 gfodt F FOS F U gES A A F FA AR 7P G FAS F FEA F T Q@A T4
21 RereT AT F ¥ T W F T A R Tg FEF FAT T@I?

Ans

ol oXed -2
[oRo R o =
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o>
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o}
O
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o ¢
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Question ID : 424429655
Status : Answered
Chosen Option : 3

38 e #1 09 T S gt & Aoy 3@ §9y § S RG© e geea & went F 7 g
Q.15 (4 67, 20)

v (3, 30, 12)
X 2 (5, 28, 56)
X3 (7, 52, 104)
X 4 (6, 219, 44)

Ans

Question ID : 424429637
Status : Not Answered
Chosen Option : --




3 TE RweT @ A0 Y S HeAtaila eear B afehe AR T FA F swafiua wwar g
1. agea Ry
2. 3¢ wafad
3. iR
4. TTFH
Q.16 5. areaTEEr

X11,5,3 2 4
X251,3 4,2
V31,05 3 4,2
X451, 4,32

Ans

Question ID : 424429640
Status : Answered
Chosen Option : 3

Q.17 wx FEr-grw v aw €, S @ O Rl TR o wAe § R v I ¥ s SeEgea &
TAF H

ans X 125 : 200
X215 : 120
X314 : 112
v 22 : 166

Question ID : 424429639
Status : Answered
Chosen Option : 4

TF FEATR 0T F T AT IFeR-TAE F I N W I W HER-THE F TN gI01 FlAfeT v 709 F
Q18 Rhfgbq

x-pdpth#A
v:pdptdA
xbqgqptdd
x-pdpidA

Ans

Question ID : 424429656
Status : Answered
Chosen Option : 2




Qo T, U ¥ I GHR Wafod § R TER ST ¢ * & wafoa B
Ans Jlm

X 2 TR

Ka.w

Ko g

Question ID : 424429644
Status : Answered
Chosen Option : 1

Q.20

3H 39 W F T4 H{ 37 AFAToi@a el & &= Haul #r Gafead 7 @ g2ar &1 Ans

X L

08

Question ID : 424429657
Status : Answered
Chosen Option : 4




T & T #r @ RufaEr gl oS € e o wew 3ER A, B, C, D, E 3k F ¥ Rfgaa ¥ R
‘D RfEad B & Fulig Foe 9T HidT T e Fem?

v E,
A
C

Ans

3.

F

X X X

2.

4

Question ID : 424429651
Status : Answered

Chosen Option : 1

Q22 =3 fameT &1 Tu HY EH wedl F AT TWER I T, TG RO A0 oA F et & A
gl
ofdmr ;T

" X e FEEd
X 2 asdls : dFe
v ofdmar - Aefdar
X 4 ofraT : 3eTeRieaHT

Question ID : 424429647
Status : Answered
Chosen Option : 2

Q.23 TR ¥eE Ru 7w &, et & e Bl sor e € 3R oF 3 e €1 39 I Aee 1 T |

Ans xl' am
X 2 ﬂ?‘ﬁ?f

X3 g
v 4 T

Question ID : 424429649
Status : Answered
Chosen Option : 4




Q.24 fedr fARed Fe o F 'VARIOUS' &1 '519812254418' % 9 & %eag Rham S1er §1 g8 e smor &

'PENSION' # & Feag frar Sreem?
Ans K 1.16551388120513
v 2. 11251388122513
X 3 16251488122812
X 4 11241398122514

Question ID : 424429642
Status : Not Answered
Chosen Option : --

Q25 ar seR-wE T e § G @ &9 el TeR T € HR o 3 #1139 3T 3ER-TIE W

TIT
Ans X 1 BDH
v 2 cuz
X 3 DPT
X+« EYC

Question ID : 424429648
Status : Answered
Chosen Option : 4

Section : Quantitative Aptitude(Basic Arithmetic Skill)

Ql v zfET 39T BAfER 25% & ofsT 9 a=ar &1 I 3HT S® 15% & @ 9% 4= g, ar 3§ 2800

FH W @] FeA=R F HT {ed AT Hi=w
Ans X 1.%3,000

X 232,500
v 3 32,000
X 4+ 31,500

Question ID : 424429664
Status : Answered
Chosen Option : 3




Q2 = R 1T IRATE FAAGEF HeTTA F AR BT 7T go F 3eeR A

45 7
40

40 4 —
35 A 33
30 —

25 4

20 4

20
15 16
15 4
10 1
s
o
A B C D E F

BIRTH RATES OF DIFFERENT COUNTRIES

Birth Rate per Thousand

2 C ¥ SI=8 T (Birth rate), v E H 5=H & (Birth rate) Hr swamerer st gfarera 22
Ans X 1 65%

v 2 60%

X3 70%

X 4 75%

Question ID : 424429682
Status : Answered
Chosen Option : 2

Q3 far #r 31w R=r ¥ 15% Fa &1 Faw & 37w o F 3w @ ot wfew s

Ans x 14110
1. i —
7
11
2. 15219
x =%
11
3. 16229
x 7

11
2 17-%
Vg%

Question ID : 424429663
Status : Answered
Chosen Option : 4

Q4 Ffr a=355,b=356,c=357 &, @ a® +b® + ¢ —3abc F AT AT AT
Ans - X 13208

X 2 3202

v 3 3204

X 4 3206

Question ID : 424429673
Status : Not Answered

Chosen Option : --




@3 2 et & Swel F IS 16 1 1 ¥ 3 IRAN F FeT IS AT P
Ans of 14 ;1

X212 :1

X33:1

X48:1

Question ID : 424429660
Status : Not Answered
Chosen Option : --

Q.6 gfy 15 =afeaat # 10 e o Siae & 6 R o &, o 50 whs of& # 10 Rt & e & fow
Traer safdaat Hr anaeTedar gen?

Ans X 1 B5
X2 40
X 3 50
v 4 45

Question ID : 424429658
Status : Not Answered
Chosen Option : --

Q.7 fw aw )X IF H, THE a7 (bar) T FIAT HT T JUT FTeT - 3TH 0T g2ar g1 IF &
egTa AT 3R 35F T BE 70 927 7 3eR) S|

2000 2001 2002 2003 2004
a§

2001 #r gorem F FuA H 2002 F g I F FAA sfoea & w4 g5 P2

Ans 2
v 163%

1
x 2. 245%

X 3. 229%
X 4 18%

Question ID : 424429680
Status : Answered
Chosen Option : 1




wF Ha N 15% 3R 20% F FEr W I680 F A= AT FaA F 3ifhd Hed A HfST

Q.8

W X %900,
X 3800,
v %1000,
X 3950,

Question ID : 424429662
Status : Answered

Chosen Option : 3

10, 12, 15 &1 IgU=aTer T g2

Qs
e K24,
X 22,
v 18,
X 20,

Question ID : 424429665
Status : Not Answered
Chosen Option : --

W10 R tan?x —3sec’x +3 =08, x (0 < x < 90°), F AT AT =T
Ans X 1 60°

X 2 30°

v o0°

X 4 450

Question ID : 424429678
Status : Answered
Chosen Option : 1

Q'nﬁgﬁXYZﬁ,uﬁGW%ﬁTXL@M%WW%W:m T & XG #r e &

ae ¥ 12 cm,

X 14 cm,
X 10 cm,
X 16 cm,

Question ID : 424429669
Status : Not Answered
Chosen Option : --




Q.12 c0s230°—sin®30°

sin?15°+cos215°

Ans 1. 4
vz

X3 1-43
x40

F AH AT HITST

Question ID : 424429676
Status : Answered
Chosen Option : 2

Q13 7= ¥ & o= vt &1 mew 28 ¥ o = ¥ ve wew # B B =, o "rew & 5 #r A

& S ¥ e i e A@e i

ans X146
X2 47
X3 45
Vi 48

Question 1D : 424429661
Status : Answered
Chosen Option : 4

Q14 4 cm B A 3&Ted & AR SR ST Haet Aol elems Pofs &1 S (om? 3) 32

grem?

Ans o1 16 cm?
X2 [2cm?
X 3 18cm?
X 4 14 cm?

Question ID : 424429670
Status : Not Answered
Chosen Option : --

@15 925 [42- {25- (18 -18+ 13)}] =T HAF FF HST

Ans X1 223
X2 222
V'3 221
X4 244

Question ID : 424429675
Status : Answered
Chosen Option : 3




% Rl & & Fi & TEw 3 @ g R ¥
Ans X 1. 8703541

v 2 8765001

X 3 8703593

X 4 8703572

Question ID : 424429674
Status : Answered
Chosen Option : 2

Q.17 v a7c IR IMF H, THE T (bar) T FIAT $T 3T TUT HTe R 3T a7 g2ar g1 I &
HeTTS AT AHR 3TF T T 7T 92T F 3k S

40 T

35 35
3s +
30 30
30 +
25
- 25 1
5 20 20
5 20 +
= 15 15 15
S o5 4
10 +
5+
o0
2000 2001 2002 2003 2004
Year

2001@'20023??&'&'ﬁ'ﬁ~7—|ﬁl’3~1ﬁ§'§?

Ans

i
v 13329
3
i
X 2 35-04
3
1
X s 36§%

1
X 4 34§%

Question ID : 424429681
Status : Not Answered
Chosen Option : --

O ofr x+y=153R xy=14%, A x—y F AT AT ST
Ans X 114

X2 11

v 13

X412

Question ID : 424429671
Status : Answered
Chosen Option : 3




Q19 R v aR 7F &, THe A (bar) TH HIA ¥ T TUT FIGT IR ST 7T AT &1 I FT
e AT HR 3TF a7 BT 7T goF F 3R {fSw

40 T

s - ﬁ “
| 20
Year
2001 & g arel 317, fFH a¥ & o & sqEw o9
Ans - X 12002
v 2 2004
X 3 2000
X 4 2003

Question ID : 424429679
Status : Answered
Chosen Option : 2

Q20 35000 % Fewe 1 b ast & 10% & M e @7 R WYROT 47 32,000 & SACM?
e X3 ad

Vo4 a8

X353y

X6 oy

Question ID : 424429666
Status : Answered
Chosen Option : 2

Q.21

I secd —tanf = 3 g, AT cosd FT AT AT FIAT|

Ans

v
X 2
X 3.

X a

Gl Ol Nlw o w

Question ID : 424429677
Status : Not Answered
Chosen Option : --




& % Il #, XYZ v Ocs W@ g AR ZT Toear g1 « & A F:=4r g2

Question ID : 424429668
Status : Not Answered

Chosen Option : --

Q23 rr 8 kmh T F T g TF T F 30 e F 9K FAr ¥ I Fr s frah @2

Ans o1 4 km
X 2 5 km
X3 3 km
X4 2 km

Question ID : 424429659
Status : Answered
Chosen Option : 1

Q_z4uﬁ2a+3b=83ﬁr ab = 5§, @ 4a%+9b* & AT AT HfaT)
Ans x 21.

X 8,
v 4,
X 6

4.

Question ID : 424429672
Status : Not Answered
Chosen Option : --




Q25 2 o sl & g7 1 &% 'G' ¥ T 2468 =150° §, 3 For ACB F FW T P

Question ID : 424429667
Status : Not Answered
Chosen Option : --

Section : General Awareness

Q.1 T 2018 # gRidt siafer gl & arf gaan¥ Siffdfer W Yah TSR SUHRUT &l ITTANT &hieh
TSl UR AT UT-t SR T SRTIT 3147 AT1 39 @iST & fog Iughy fahg S1A aret Suehvor & T gt
ST 82

Ans X 1. 47§ g (Mars Hope)
< 2. 283 4 (MARINER 4)
o 3. =1f&E (MARSIS)
x 4. 71 Siffdfex (Mars Orbiter)

Question ID : 424429694
Status : Not Answered
Chosen Option : --

Q.2 WRA 3R UIfhedT & Tadal Al o AAT0T i 3@ et arerT Sifes WRET IEERmE Hi 412
Ans X 1 & &fim

o 2. &ifé wriede

X 3 @R

X 4@ e

Question ID : 424429699
Status : Answered
Chosen Option : 2




Q.3 -1 FYF a8 =S a8 gg garan g o e & ufeend s 200 @5t auf oot gt &,
wrafds SRgsh, St g e 30 657 & (393 e & <fieft o), gt wfad 1250 SR
3ifdrer auf gt &2

Ans  BC 1 Jedsh @t ugifRal & R w f@a @, ik R @t ugiRal 6t gar w8 6 Rar Y sk
Rd &1 59 UhR, Tgi ga1 df dgd! ¢ fohg aul 761 gidt 81

x 2. TGS # fEATer € o aret Sio-aui arel dTeel 9 a9l gidl 8, wdfch fRAIHT # AT &
HIATER 2T § auf gl &1

\/3.m@ﬁﬁﬁﬁﬁmmaﬁﬁanaﬁsﬂ?ﬁﬂaaeﬁiwzﬁmaﬁa@@w
T hedT &, STafen fAran @t ugifeal & frar ur R &, St auf sieste &5 IauF Fedt g1

X 4. srcafes &= &Y et 3R vewoT & HROT RS @ S aoHE gel 2l

Question ID : 424429698
Status : Answered
Chosen Option : 1

Q.4 fafra faerdia gren suszol & &, faega urr & sufta vuma o= smenfRe fegdta gram Iz
Sl RIT gl STET 82

Ans X 1 zaft &t (Protective relay)
X 2.9 e (surge Protector)

\, 3. /1 (Fuse)
< 4. gurfer (Capacitor)

Question ID : 424429692
Status : Answered
Chosen Option : 3

Q.5 WRA & d@iu & srgede 80 & HTHR, ASTHHT & Gewl i siflieran dear et gt wenedt 272
Ans o 1 250

X 2.235
X 3.245
< 4.240
Question ID : 424429704
Status : Not Answered
Chosen Option : --
Q.6 HgeR & o R & TR & g1 §, uea 3R fa== (to read from and write to) &
frcaad aw 2

Ans X' 1. ueirdt e (Floppy disk)
x 2. g1 fe% (Hard disk)
W 3.3 (RAM)
75 4§32 (CD-ROM)

Question ID : 424429684
Status : Not Answered
Chosen Option : --




Q.7 SAa2020dF F

T % TR, i Fel 3 STAReTel 7 T 37 Ueh o TR ofaon T AT
TG IR 1 82

Ans x 1. TIAHY
xz.a'ﬂzaﬂz?s?r
x3.HﬂHHW

"4.@1?2??@3

Question ID : 424429707

Status : Answered

Chosen Option : 2

Q8 & QW(WWWTHET’TIT%?

Ans X 1. 31AY 3 ATHY & 1T T &Y & TETel el 3R SeTehT Il ST oh oIT IRl HIhR <RT AT
AT T e

xz.maﬂtﬁqiﬁwa@waﬁmm%wmwamg T 31T T Greel

x3.mm:¢a%uwaawa;qﬁmaﬂ?r3ﬁ?mqmmnﬁa?mww<m%_g
AT IGT Th dlee

‘,4. AT BIeT T elleh ot 3 3T T oMol o oT TR FIHR RT ] HT IT Ueh GIcel

Question ID : 424429689
Status : Not Answered

Chosen Option : --




A 1

= (8 Sl Qi (6 7o i il | B -
f:
i iy gz «f
| 5 2l
f

Q.9 arHifer e Red wgi fRa &2
Ans

Question ID : 424429695
Status : Not Answered
Chosen Option : --

QIOARTHHAUA R HAIN] CHIFAUAEHURH  TING g, STHhT HW UTH T gIam?
Ans xi.aﬁor 3 44

Jz.arrg 3574 (1)

x's.arror 3534

x4.3r-; g 21 (1)

Question ID : 424429703
Status : Not Answered
Chosen Option : --




Qll__ U BT, Dol I AAN H1S §, S o eI & ,TH.ST (USB) U1T H ST STl § T
TeTA B oiSsdsh  THFIT AT | Ans xl. SYAST-AT (DVD-ROM)

X 2. TSI (CD-ROM)

X 3. 9Ig1-31Rks g (CD-RW)

J 4. 9r 13d (Flash drive)

Question ID : 424429683
Status : Answered
Chosen Option : 4

Q.12 T IV T YIATIROT A’ el HATAT SITAT §2

Ans x 15373

"2.5:@
X3.5?FI'§
x4.5:mzr

Question ID : 424429697
Status : Not Answered

Chosen Option : --




Q.13 Hgqg T 7 YR WR foha=it AR simsrwoT fRam?
X 1.7
X 25
W 317
X 415

Question ID : 424429700
Status : Not Answered
Chosen Option : --

| i i Iyf i fa Fyf
£23)
T g
T g
A |
E g
Ans
Q.14 AT T G A A PleA-HT UTeh, JoX 1 o I SXE Al A A T Igell ' 7 dTarEad
T

Ans « 1. & TeASIam T T 3 ol
X 2. ARG TR 3 ol
x 3. IRTNT 3 aleT

X 4. FTETU SIS ol

Question ID : 424429685
Status : Not Answered
Chosen Option : --




Q.15

TV 29 T TR FGF S, T NI WA I F T H FATS ST &2 Ans
x1.msh?ragsﬁaansﬁm

xz.a@?m@
‘ls.mad'c:

x4.tﬁ.z.3'sn

Q.16

Ans

T T TG 3T S T hiA-ATE?

xl.m_{a?:?a
Xz.aﬁaﬂ%a
xa.%a@*%a
‘,4. aam- gser

Question ID : 424429705
Status : Answered

Chosen Option : 3

Question ID : 424429693
Status : Not Answered

Chosen Option : --
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EREE]

Q.17 SHat 2020 d< 6 fRAA F srgar, F=afaf@a & | fFd Fier % & (FIFA World Cup) & @R
sfaera & e & gafie & aaw aifde M e &1 kg AT g ur?

1. R
X 2. AR e
X 3. Ryt AR
X s

Question ID : 424429701
Status : Not Answered
Chosen Option : --

Ans

Q.18 o of Gl A H FHHeA SToTa 2020 H UICL AT SAT Hdledleh & AL ‘5 . .T. (WTA) BIITC SeTeleIeTer & AH o1

Ans 1. 3 ST =T
2.TATIT

3. 9T 1T Hall

X € X X 1

4. FHA Y TSN

Question ID : 424429706
Status : Not Answered
Chosen Option : --




Q19 o A AW HE A F / o ATHA S H TR Teh H 37 dTed IS (R ASAT) o < Teh JTATH Holol & 37
e HHTIAT 82
Ans Jl.m
xz.srs{am$m
xs,ar-:::-nzr
X amm

Question ID : 424429696
Status : Answered

Chosen Option : 1

Q20 AT T T H A Tl & T 71 & TG I B ANl AT H 5 Tl F "3e7 39 Tiol & 1 AT 31T Hote
amm%a%ﬁdﬁaﬂamgaﬂrmmaﬁmsﬁg“ (for their discoveries of how cells
sense and adapt to oxygen availability) & o7 2019 ?W?W?HWE’HWW

Ans ‘,1.amsﬁ$mq\w,mdﬁaﬁi€wwﬁwwm
X, 3 SR BTE, Silel- TR Fidot AR o % @1
xa.ahamg?ﬁm,méﬁzﬁaaﬁwua‘ﬁrrmam

x4.$cr2n?r,iraid’mua"éfra‘w

Question ID : 424429702
Status : Not Answered

Chosen Option : --
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Ty T B
¥ i i

Q.21 f=faf@a & 9 forg arer 931 @1 day difiaeR urerHTe Afor 3R 9 ur?
Ans NIW-W

X 2.aigd

X 3.

X 4.Rar

e T fF =

Question ID : 424429686
Status : Not Answered
Chosen Option : --

Q.22 '3 A T o @ H Y HEY T €T &2 Ans x
1 ARAHH T3 o1ET

X 2. 8RR T FT el 3 19T

‘,3. HRA BT Y 3 <97

x4.8m?r$r@ﬂ?r3-:z-’m

Question ID : 424429690
Status : Answered
Chosen Option : 3




Q.23 HRT A AEIE 3UHA T F 1209 ST e Hellg M52
Ans x

1. 26 AAGSR 2019
2. 26 TS 2019

3. 26 GHEX 2019

X § X

4.26 37X 2019

Question ID : 424429688
Status : Not Answered
Chosen Option : --

Q24 el 2020 T H T TR, $TRC o I <1 HlAdT YR AT H T FleT A?

Ans .
1. 57 TH YaATeh o €Y

2.7 TH U, Tel. & 1

3. TP A TG

X X § X

4. H T WH A%

Question ID : 424429687
Status : Not Answered
Chosen Option : --

Q25 3t [UTIeh o1 AT Hfeh oIT AT ST 82

Ans

x 1. 31T GHTAT Sl AT o oIT
Jz.mmmﬁmaﬁ%m
xa.arrzraawras‘rmﬁa%srtr

X 4. FTH-gT o T ATIA o oTT

Question ID : 424429691
Status : Not Answered
Chosen Option : --




